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39- In thefinal......... , Rostaim killed his son, Sohrab.
1) bottle 2) butcher
3) butter 4) battle
40- My car’sfuel......... isso high that | prefer not to use
it.
1) consumption 2) prevention
3) prediction 4) production

41- They broke the door down....... a hammer and got
in to the house with force.

1) in order to 2) inrelation to

3) by means of 4) in favor of
42- An........... ticket usually hasalow price.

1) expensive 2) extra

3) average 4) ordinary
43- Having necessary ......... isthefirst requirement for
this position.

1) registration 2) qualification

3) solution 4) absorption
44- Theteacher asked meto help him.......... the exam
papers.

1) correction 2) to correct

3) corrective 4) corrected
45- | couldn’t find any body............ . It seemed they
could all escape.

1) injured 2) injuring 3)toinjure  4)injure
46- How can you say it’s.......... whilethere are still
many thingsto do.

1) finished 2) being finishing

3) finishes 4) finish
47- A lecture........... when we entered the amphi theater.

1) was delivering

2) delivered

3) was being delivered

4) had delivered

48- “| wonder who has eaten my sandwich”. “It.............
Janefor she waswith me all day long”.
1) shouldn’t have been
2) might not have been
3) wouldn’t have been
4) couldn’t have been
49- ..... him the way, he pushed the pedal and disappeared.
1) Having shown 2) showing
3) Having showed 4) After | showed
50- Which sentence has a rising intonation?
1) Do your job well.
2) Do you go walking every day?
3) Don't disturb his privacy.
4) Doing the job, | remembered the address.
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